BFIZTVR PS—FB60O0O

S=1:20
(5 7 FRENBELES - AETSICEICREN GL+0m IXkA)
L= 7 L 1
2000 2000
[135%x30%1.6
: lf%_
2 o
B8
| |
GL+0m | .
/ﬂ.w [140x25% 2.3 [40x25%2.3 |8 3 3 |
- A et !
O16x16x1.6 3
@118 ~
01180
NI VBT $=1:6
im kR B
FHEBN M8 x 53 (W) FHRBN M8 x 53 (Wf)
RATUTAR S BT M8 x 16 W) RANSTARZ BT M8 x 16 Wft)
/ [SUST / [SUS]
I 4 I I
a atiE b
IR Im AR B [135%30%1.6 PN é [135%x30%1.6
t=2.3 . L —
| {77,@7 o
| E] i
!
Zad vk | O16x16x 1.6 ‘ | O16x16% 1.6
t=3.2 | @118 | @118
\ PERRAN \
040x25x%x2.3 t=3.2

040x25%2.3

b HREK

BHES
RERIE - - - BANS 7 FREQEERER - RBTHICE
DLAENIZEKS,
EBEEM - - - RYIFSHMA 98 kN/m (10 t./m)

%

1. EFHEER - FILS - I TRV LEEH>EDOLEM
{=EBIEMAZE LTS, BL, SUSRZERAKILE
Y MIBRERO - SOLEERLEL L. R
EREELAMERO > ETDHET S,

fREEGEEE
3

t=2.

150800151

2024. 03




